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MAC 2311 - Analytical Geometry and Calculus I
Quiz # 12, November 30, 2023
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Problem 1 .

Given a function
flx) =x —2x% +-4.

We want to approximate the area under the function over the interval [0,3].

w ) Sketch the rectangles that we will use to approximate the area using the right-end point
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0\ }/} ) Approximate the area under the curve over the interval [0,3] by subdividing the interval
\@V into n = 3 sub-intervals using the right-end points.
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/]/QQ\‘}A) c.) Approximate the area under the curve over the interval [0,3] by subdividing the interval
into n = 3 sub-intervals using the left endpoints.
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d.) Given the exact area as ({ f(x)dx = % which approximation is closer to the exact value?
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Problem 2 .

)
%QO Evaluate the following integral. Given a Riemann integrable function f:R — R and
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fx)dx=6, [ f(x)dx=-2,and [ f(x)dx=4.
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Use properties of the indefinite integral to calculate
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